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Input and Output Limitations 
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TI Precision Labs – Op Amps 



Quiz:  Input and Output Limitations 
1. An amplifiers common mode voltage is ____. 
a.! The maximum input voltage. 
b.! The minimum input voltage. 
c.! The average of the voltage applied to the inputs. 
d.! The differential input voltage. 
  
2. Exceeding the common mode input range will ____. 
a.! Cause a nonlinear response. 
b.! Cause damage to the device. 
c.! Draw excessive current. 
d.! Limit the circuits bandwidth. 
  
3. Input and output swing limitations ______. 
a.! Are given relative to the power supplies. 
b.! Guidelines for preventing damage to the devices. 
c.! Calculated using ohms law. 
d.! Are only valid for dc signals.  



4. An inverting op amp configuration has a constant common mode 
voltage regardless of the input signal. 
a.! True 
b.! False 
  
5. An non-inverting op amp configuration has a constant common mode 
voltage regardless of the input signal. 
a.! True 
b.! False 
  
6. A rail-to-rail input amplifier allows common mode signals _____. 
a.! Near ground 
b.! Near the positive power supply 
c.! That cover the full range from positive to negative supply. 
d.! To be applied without damaging the device. 

Quiz:  Input and Output Limitations 



7. What causes the common mode limitations in amplifiers? 
a.! Overheating semiconductor junctions and ESD diodes. 
b.! Internal capacitance and inductance. 
c.! Transistor and polysilicon resistor scaling. 
d.! Saturation and cutoff of transistors in the input stage. 

Quiz:  Input and Output Limitations 
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Quiz:  Input and Output Limitations 
1. An amplifiers common mode voltage is ____. 
a.! The maximum input voltage. 
b.! The minimum input voltage. 
c.! The average of the voltage applied to the inputs. 
d.! The differential input voltage. 
  
2. Exceeding the common mode input range will ____. 
a.! Cause a nonlinear response. 
b.! Cause damage to the device. 
c.! Draw excessive current. 
d.! Limit the circuits bandwidth. 
  
3. Input and output swing limitations ______. 
a.! Are given relative to the power supplies. 
b.! Guidelines for preventing damage to the devices. 
c.! Calculated using ohms law. 
d.! Are only valid for dc signals.  



4. An inverting op amp configuration has a constant common mode 
voltage regardless of the input signal. 
a.! True 
b.! False 
  
5. An non-inverting op amp configuration has a constant common mode 
voltage regardless of the input signal. 
a.! True 
b.! False 
  
6. A rail-to-rail input amplifier allows common mode signals _____. 
a.! Near ground 
b.! Near the positive power supply 
c.! That cover the full range from positive to negative supply. 
d.! To be applied without damaging the device. 

Quiz:  Input and Output Limitations 



7. What causes the common mode limitations in amplifiers? 
a.! Overheating semiconductor junctions and ESD diodes. 
b.! Internal capacitance and inductance. 
c.! Transistor and polysilicon resistor scaling. 
d.! Saturation and cutoff of transistors in the input stage. 

Quiz:  Input and Output Limitations 
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